VS N A 4 Toct 2015

dJe Tes.
@ D H ek e mahie L x3

@ a“$:4—’ qlg:‘d_raggz"\’
s -2 2)

@@ A(‘ agl&@ammg(‘ "‘4}1&2‘&\W'

Ayg = -§

s -2 2)
AX%QXL‘Afb (JI -\ 4/ S
(- )p{ °5) e AB= 7055

\ \ -

® Aol ctowmss ek B o i doe & ;raaw;lr/\x@n'eml:r.o

) A7 j\)
@ MA?:C—Z)(—‘X-LXO = 2

Jok A __k: o den A - L‘(WM'M.
| ~\ a&’Qr
@ On docke A=[0 OL),

-3 o\fa &\ 4 0)

ol
Sl < -1 KCOL/’J—\O 1)
- 2a. ~2‘9r' > - k/{ 0\
- <§a—C %-—A- 0 /lj
~la_= 4. a.——l/z
<2 —7.'8":0 P DY‘: a
'Sa—C:b C“'%/z
W d =4 A= -



i I
AW ao\/w/\- A c:»v.u]it .w.c[M . AM(W; (’)\}(3) = (,_ 6/%) "
7 | )
@@)}m{u‘) ‘LMAAALMO&IMMAW%
C4)= 44 S C(3)= L )= 8D me Cl)=antebxS o0

G;u‘ QL‘)A_VM\:- .

a A2 batec 4 110 = 44
ax+b¥ica 40 =L
a57’t Letec S+ 10 =32

o+ A «2c = Tk
AiTec 154 4 Sc =¥S

| 0_+QJ'+C‘—/,L
C_sg



@/\a afleom

©) e M=y e 2[4 3
§ <

(Q@ ﬂXz)/ @=> ﬂ"ﬂx “—“—\){

bledobi e | loue S:{(O,s;o,q;o,ng
® On o didich alns
(b= o5x®« o+ gim 410
done  C(3)= 13200
oo A ol Tl B adingen ook & 23200 £



